



(1) α の座標を $(\alpha, \frac{1}{\alpha})$ ($\alpha < 0$) とおく.

P の座標は $(\alpha, \frac{1}{\alpha})$ とおいた.

αP の長たの二乗は $(\alpha - \alpha)^2 + (\frac{1}{\alpha} - \frac{1}{\alpha})^2$

$$f(\alpha) = \alpha^2 - 2\alpha\alpha + \alpha^2 + \frac{1}{\alpha^2} - \frac{2}{\alpha\alpha} + \frac{1}{\alpha^2} \quad (\alpha < 0) \text{ とおく.}$$

$$f'(\alpha) = 2\alpha - 2\alpha - \frac{2}{\alpha^3} + \frac{2}{\alpha^3} = 2(\alpha - \alpha) - \frac{2}{\alpha^3}(\frac{1}{\alpha} - \frac{1}{\alpha})$$

$$= 2(\alpha - \alpha) - \frac{2}{\alpha^3} \frac{\alpha - \alpha}{\alpha} = 2(\alpha - \alpha)(1 + \frac{1}{\alpha^3})$$

$$f'(\alpha) = 0 \text{ のとき } \alpha^3 = -\frac{1}{\alpha}, \quad \alpha = -\frac{1}{\alpha^3}$$

$f(\alpha)$ の増減表は左表のようになる.

よって αP の長たの最小値は $(\alpha^{\frac{2}{3}} + \alpha^{-\frac{2}{3}})^{\frac{3}{2}}$

α	...	$-\frac{1}{\alpha^3}$...
$f(\alpha)$	-	0	+
$f(\alpha)$	\searrow	$(\alpha^{\frac{2}{3}} + \alpha^{-\frac{2}{3}})^{\frac{3}{2}}$	\nearrow

$$\alpha^{\frac{1}{3}} = \alpha \text{ とおく}$$

$$f(-\frac{1}{\alpha}) = \frac{1}{\alpha^2} + 2\alpha^3 \frac{1}{\alpha} + \alpha^6 + \alpha^2 + \frac{2}{\alpha^3} \alpha + \frac{1}{\alpha^6}$$

$$= \frac{1}{\alpha^2} + 2\alpha^2 + \alpha^6 + \alpha^2 + \frac{2}{\alpha^2} + \frac{1}{\alpha^6}$$

$$= \alpha^6 + 3\alpha^2 + \frac{3}{\alpha^2} + \frac{1}{\alpha^6} = \frac{\alpha^{12} + 3\alpha^8 + 3\alpha^4 + 1}{\alpha^6}$$

$$= \frac{(\alpha^4 + 1)^3}{\alpha^6} = (\alpha^2 + \frac{1}{\alpha^2})^3 = (\alpha^{\frac{2}{3}} + \alpha^{-\frac{2}{3}})^3$$

$$(2) \quad \frac{\frac{1}{\alpha} + \alpha^{\frac{1}{3}}}{\alpha + \frac{1}{\alpha^{\frac{1}{3}}}} = \frac{1}{\sqrt{3}} \text{ とおけばよい}$$

$$\alpha^{\frac{1}{3}} = \alpha \text{ とおく}$$

$$\frac{\frac{1}{\alpha^{\frac{1}{3}}} + \alpha}{\alpha^{\frac{1}{3}} + \frac{1}{\alpha}} = \frac{1}{\sqrt{3}}, \quad \frac{\alpha^{\frac{1}{3}} + 1}{\alpha^{\frac{1}{3}} + \alpha^{\frac{1}{3}}} = \frac{1}{\sqrt{3}}, \quad \alpha^{\frac{1}{3}} - \sqrt{3}\alpha^{\frac{1}{3}} + \alpha^{\frac{1}{3}} - \sqrt{3} = 0$$

$$\alpha^{\frac{1}{3}}(\alpha^{\frac{1}{3}} - \sqrt{3}) + \alpha^{\frac{1}{3}} - \sqrt{3} = 0, \quad (\alpha^{\frac{1}{3}} + 1)(\alpha^{\frac{1}{3}} - \sqrt{3}) = 0,$$

$$\alpha^{\frac{2}{3}} = 3^{\frac{1}{2}}, \quad \alpha = 3^{\frac{3}{4}}$$